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Questions 1 to 10 carry 1 mark each Questions 11 to 15 carry 2 marks each.
For each question, four OptIGFIS are given. One df them is the correct answer.
Make ‘your choice (1, 2,.3 .or 4). Shade the correct oval (1, 2, 3 or 4) on the
Optical Answer Sheet (OAS). (20 marks)

1; ‘What is 392 458 rounded off to the nearest hundred?

1) 392000
2) 392400
3) 392460

. 4) 392500

2. Which of these has the smaliest value?

1 1
5
2) 2
=

3) 05
4y 027

3. Which one. of the following pairs of numbers has common factors 1. 3
and 9 only?

1) 9and 24

2y 12and 18
3) 12and 24
4) 18and 27

A2




The average mass of 3 boys weighing 34 kg, 35 kg and x kg is 33 kg.
What is the value of x?° - '

1) 27
2) 30
3) 36
4) 34

Mrs Loh bought 9k pens. She gave 2 pens to each of her pupils and had
4k pens left. Express the number of pupils Mrs Loh had in terms of k.

1) 5k
2
2) 13
2
3) 9k-2
4k
4y 9k +2
4k

341.059 =300+ 40.+ l | +0.05.

The missing value in the box is

1) 0.08

2)  0.009
3) 1.009
4)  1.059
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Derrick left for his fennis fraining and his watch showed 9.35 a.m. He
fook 35 minutes to travel to his tennis training venue. He then reafised
that his watch was 10 minutes slow. What was the actual time he
reached the training venue? ‘

1) 9.50am.
2) 10.10am
3) 1020 am.
4) 1030 am.

The table below shows the age of 4 boys. Whose age is the nearest fo
their average age?

“Name VAge in Years
Alvin b
Baobby 12
G 13
' Danny A. N L 15 ]

1)  Abin

2) Bobby
3) Calvin
4) Danny

A4




10.

s

The 'rafio of the num_Bér of marbles Frederick has to the number of
marbles Gregory has is 5 - 8. | Frederick has 90 marbles, how many
marbles must Gregory give to Frederick so that they both have the same

number of marbles?

1) 18
2) 27
3) 90
4) 144

The area of rectangle WXYZ is a8 cn’. Find the radius of the semi-

circle.  (Take n =—27—2 )

w

1) 7cm
2) 14cm
3 22cm
4) 44 cm
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11. The figure below is made up-of 2 identical squares STYZ and UVWX and
a rectangle TUXY. Aréa A is twice the Area of B and Area D is half of
Area F. What fraction of the figure is shaded?

U v
. _:.‘-';(::5::::_" F
B
154
X W
1} 3
5
2) 3
10
3 9
20
4 11
0

12 Which one of the following figures has more than one Aliné of symmetry?

ﬂD 3)ﬁ -
: Cj 4)@

AH




13. Quadrilateral ABCD is drawn on a 1-cm square grid. Fi'ﬁd the area of
ABCD.

- - -

A-7



14. The figure below shows the net of a cube. The average of each pair of
numbers on opposite faces is the same. What is the msssmg number
represented by the face marked ‘y'?

14
13 | 12
16 17
Y
1) 11
2y 15
3) 18
4) 19
15. In the figure below, ABC is an equilateral trangle and CD and BD are

straight lines. CD is parallel to AB. ZCDEis 36°. Find ZDEA..

C

1) 36°
2) 84
3) 96°
4) 144

A8
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Questions 16 fo 25 cary 1 ;}'tér'km each. Write your answers in the spaces
provided. Give your answers io the units stated and to its simplest. form

whenever necessary. (10 marks)

16.  Express 2% as a decimal. (Round off your answer to 2 decimal places.)

Answer:
1 1 1 1
17. 8x1§—16+16+2§+
What is the missing value in the box?
Answer:

18. Whatis the quotient when 2397 is divided by 237

~ Answer:




19.  Sheenais yyears old. Mary is three times as old as Sheena and Mar}( is

4 years younger than Peigi. What is Peiqi's age in terms of y?

Answer:

20. 1 kg of tomatoes costs $2.40.
6 kg of such tomatoes cost as much as 800g of cherries.
How much does 100 g- of cherries cost?

Answer: §

21.  Helen had a rolt of ribbon 3 m 4 cm long. She. cut off 18.7 cm of the
fibbon to tie a parcel. .What was the length of the remaining ribbon?
Leave your answer in centimetres.

Answer. crm

8-3



22. A circular hoopla hoop of radius 10 cm is cut into 4 equal pieces and re-
arranged fo make the .shape as shown. What is the perimeter of the
shape?

(Take = = 3.14.)

Answer: cm

23.

>z

Refer to the square grid above and filf in the blanks with A, B,C, D EorF.

Point is south-east of point

B4




gular piece of paper folded

The figre below shows an equilateral frian
along line CX. ZACB s 22° Find ZBCX.
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Questions 26 to 30 canry 2 marks:each. Show your working clearly and write your
answers in the spaces prowded For questions which requires units, give your
answers in the units stated. (10 marks)

26.  Kelvin bought 8 identical erasers and 5 identical files. Each eraser cost
$p. Each file cost $1.30 more than an eraser. How much did he pay
altogether?

Give your answer in terms of p.

Answer: $

27.  Whatis the greatest number of % m pieces of ribbon Jenny can cut from

‘:l% m of rihbon?

Answer;

B-6




28. The graph below shows the number of pupils who shopped at the 5 stalls
in a cedam school on Frtday Study the graph carefully and answer the

i = == =

Stall Number

a)  How many more pupils preferred stalf 5 to stall 37

Answer:.

b)  What was the percentage of the pupils who shopped at stall 4?

Answer: _ %

B-7



28. The bill fora meal in a restaurant was $53.50, inclusive of 7% Goods and
Services Tax (GST). Find- the price of the meal before GST.

Answer : $

30. Mavis wants to buy 9 bars of chocolate but she is short of $2.50. If she
buys 2 bars of chocolate, she will have $5.20 left. How much does each

bar of chocolate cost?

Answer: $

End of Paper 1
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Questions 1 to 5 carry 2 marks.each. Show your working clearly and write.
your answers in the spaces provided. For questions which require units, give
your answers to the units stated. _ (10 marks)

1. A rectangular tank méasures 30 cm by 25 cm by 8 cm. Water from a
tap flows into the rectangular tank at a rate of 180 cm® per minute.

How long does it take to fill -i— of the tank?

Answer: ___ain

2. Ethan scored an average of 75 marks for Mathematics and Science.
He scored an average of 86 marks for Matiiematics and English. How .
many more marks did he score in English than in Science?

Answer:




A tubber band is used to secure the position of four identical circular
discs. The diameter of each circular dise'is 10 em. Use the calculator
value of = fo find the length of the rubber band, correct to 2 decimai

places. / , ‘ \

Answer: C

.1
A group of people went on a trip to Malaysia. 3 of the males and %of

. ] - 3
the females were children. There were 32 children altogether and’ g of
them were girls. What fraction of the people were children?

(Give your answer in its simplest form.)

Answer;




5.

RS ind ST are two sides of a paralielogram. Complete and labet the
parallelogram RSTU by drawing the other two sides in the square grid
“below.

T




For questions 6 to 18, show your working' clearly and write your answers in

the spaces provided. The n mber of marks available is shown in brackets {1
at the end of each question or part-question. (50 marks)

6.

A box with 68 ,identié;éfl m‘ugszweighs 18 kg. The same box when filled
with 56 identical miugs weighs 15.03 kg. What is the mass of the
-emply box in kilogrammes?

(Round off your answer io the nearest 1 decimal place)

Answer: [3]

A sum of money was shared among Andy, Bobby and Carl such that

Andy received i:— of the sum and the remainder was shared between

Carl had.

Answer: | [3j




The pie chart below shows how pupils of ABC school travel to school
daily. Study the pie chart below carefully and answer the questions.

School Bus

40%

&) If 810 pupils go to school by car, what is the enrolment of ABC
school? :

b) If the number of pupils who travel to school by MRT is twice those
who walk to school, how many pupits walk to school?

¢) What fraction of the pupils in ABC school go to school by MRT?

Answer: (&) 1]

.(b) _ 11
(c) i




Answer: [3]

- n the figure be_léw, XYZis an isosceles triangle. XY = YZ and AB //
'—)‘éiyf AWY and AVB are straight lines. Find /£

Y

Answer: {3]




11

The figure belsw is not drawn 16 seale. ABCD is a parallelogram. EFG
and JKL are triangles. EG is parallel to-JK and EF = FG. AJKG 93°,
ZENL =70° and ZEFG = 58°

(a) Find ZEJK.

(b) Find ZJLK.

Answer: (a) . 1]

(b) (3]




12.

Aminah and ‘Benjamin were trave-ll'ing on the same route to Town X
Benjamin overtook Aminah when they were 168.km from Town X,
When Benjamin reached Town X, Aminah was still 21 km away from
Town X. 20 minutes later, Aminah reached Town X,

(@  What was the average speed of Aminah?

(b)  What was the average speed of Benjamin?

Answer: (a) (1]

{b) £3]




13.  Tank A and Tank B are regular containers. Tank A was filled with water
to a-height of 22 cm. '

a) What was the volume of water in Tank A at first? )
oL o the water in
b) The waterin Tank A was poured into Tank B such that the height of t
Tank A was 3 times the height of¥Tank B. Find the volume of water

-pouredout-of Tank R B

the water in
‘ 22 cm
12 em — —V/10cm
16 cm
Tank B
Answer . (a) {1}
o___ | 3]

10




14.

The. chairs in a school auditorium: were previously arranged in rows
such that there were exactly 15 chairs in each row for a concert. After
the concert, the school attendants removed 6 chairs from. the
auditorium and rearranged the remaining chairs for a briefing. There
are now exaclly 12 chairs in each row and 9 more rows than before.
How many chairs wg?é there in the auditorium for the briefing?

Answer:___ [4]

11



16.  Lydia made some tarts to sefl. %of them were mango tarts and the

~ rest were kiwi tarts. After selling 125 kiwi tarts and %of the mango

tarts, she had % of gﬁé:tarts left. How.many tars did-she seli?

Answer:

12

]



16. -

Mr Wang hiad thrice as many ten-dollar notes as five-dollar notes at
first. He used twice as many five-doflar notes as ten-dollar notes to pay
for a mobite phone which cost $280. Then he realised that the number

of five-dollar notes feft was ";-of the number of tén-dol!ar-notes left.

(@) How many pieces of five-dollar notes did Mr Wang have at first?

(b} How much money had he left after buying the mobile phone?

Answer: (a) [3]

(b) 2]

13



17.

Jeremy had a fotal of 60 figurines of Smurf, Lego and lronman. The
ratio .of the number of Smurf figurines to Lego figurines to Ironman
figurines was 2 : 7 - 3. He bought anothér 36 figurines. As a result, the
number of Smurf figurines was increased by 50% and the number of
Lego figurines was mcreased by 20%.

_Find the percentage increase in the number of lronman figurines.

Answer:

14

5]




18

The figure below is created with 4 quarter circles and a square.

(@)

(b)

The u.nshadéd part marked A is enclosed by the square and a quarter
circle. Find the area of A. :

rind the area Qif'fhe shaded figure.
(Take = =3.14)

- - ]

R Ll

2 cm

o4

, Answer: A: (]
B: 4]

End of Paper 2
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6)

12)

b)

14}

18kg - 15.03kg = 2.97kg
68-56 =12

2.97kg + 12 = 0.2475kg
0.2475kg x 68 = 16.83kg
18kg - 16.83kg = 1.17kg

810 =30 =27 L
27 x 100 = 2700
100 - 30~ 40.= 30%

810+ 3 =270

Walk = MRT (20%) + 2 = 10%
10% =%

LAYZ=180°-20°-124°=36°
LYXZ+ £XYZ = 180° - 20° -36° = 124°
LYXZ=124"+2=62°
£Lt=180°-62"-20"=98°

21km + 20min = 1.05km

1.05km x 60mins =63km/h
168km + 63km/h = 2hr 40mins
2hr 40mins - 20mins = 2hr 20mins
168km + 2hr 20mins = 72km fh

15-12=3
12x9 =108,
108 + 6 =114
114+ 3 =38
38%x15=570
-570-6=564

7)

9)

11}

b}

13a}

b)

15)

A:B+C:T B:C
1: 3 :4 3:2
5:15 :20 9:6:

Ratid =5:9:6

$1.40-$0.50 = $0.90
$0.90x 63 = $56.70
$409.50 - $56.70 = $352.80
$352.80+ $1.40 = 252

LEJK + 2JKG = 360° - 180°= 180°

ZEIK =180"- 93°=g7°
£EMN = 180° - 61° - 70° = 49°
180°- 58" = 122°
122°:2=61°
£FGA=180"-93°-61° = 26°
£LMGL = 1£2743

ZILK = 180° - 49° - 93° = 38°

22cm x 12¢cm x 20cm = 5280cm?
20cm x 12cm x 3cm = 720cm?
16cm x 10cm x 1em = 160cm?
720cm? + 160cm?® = 880cm?®
5280cm?® = 880cm® =6

6 x 160cm? = 960cm?

Bx%=Y
1-%=%
B-U=¥%
125x6=750
750 x % =500

-

P




16) . $5x2=$10 . : 17)  2+7+3=12

$10+$10=$20 60+12=5
$280+$20=14 o 5x2=10
14x2=28 10x¥%=5
3u-14=5p 7x5=35
u-28=1p (x3) 5x¥%7
3u-84=3p _ 5+7=12
5p-3p=2p Lt 36-12=24 -
84-14=70 3x5=15
70+2p=35 : : 24/ x 100 = 160%
a)  35+28=63 - -
63x3=189
189 x $10 = $1890
63 x$5=5315

$1890+ 8315 = $2205
b) $2205- 5280 =$1925

18) 6Gocmx6cmx ¥ x 3.14 = 28.26cm?
6cm x 6cm = 36em?

a) 36cm? - 28.26cm? = 7.74cm?
dcmx4cm x 3.14 x % = 12.56cm?
4cm x dem = 16cm?
16cm?- 12.56cm? = 3. 44cm?

Zemx 4cm = 8crmi?

36cm? - 3.44cm? - 8cm? = 24.56cm?
24.56cm? - 7.74cm? = 16.82cm?

Zcmx 2cm = 4cm?

12.56ecm?*- 4cm? = 8.56¢cm?

Zcmx2om x 3.14 x % = 3.14cm?
12.82cm?- 3.14cm? - 8.56em? = 5.12cm?

b) 5.12cm? + 4cm? = 9.12cm?

Pg 30 End
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